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1. How many decimetres are there in 5 
metres?

A)     5 dm
B)     50 dm
C)     500 dm
D)     5000 dm



2. Which option shows a correct 
comparison of units? 

A)    10 gram > 1 kilogram 
B) 100 hm = 1 m
C) 2500 ml < 2 l
D)    16 m 6cm > 166 cm 



3. Long distances are measured in ___

A) Kilometres
B)   Metres
C)   Decimetres
D)   Millimetres



4.  The weight of a box is 23.5 Kg. What is
the weight of two such boxes
together?

A) 45 kgs
B) 46 kgs
C)   47 kgs
D)   48 kgs



5.   A millimetre is _______  of a 
centimetre.

A)  1/2
B) 1/10
C) 1/100
D)  1/ 1000



6. There are 1000 millilitres in one litre. 
How many litres will be there in
500 millilitres?

A)  0.5 l
B)  5.0 l
C)  50 l
D)  500 l



7.  Which unit is the best to measure the 
capacity of a  medicine dropper? 

A) litres
B) kilolitres
C) millilitres
D) centilitres



8. Tom is 165 cm tall. Which of the 
following is same as 165 cm?

A)  1 m 65 cm 
B)  16 m 5 cm
C)  1650 m
D)  16 m 50 cm



9. Lucy drove 3500 m on Sunday and 
1025 m on Monday. About how many 
kilometres did she drive in two days?
A) 4 km 525 m
B) 3 km 725 m
C) 5 km 225 m
D) 6 km 525 m



10. Kishore had  one litre  juice in his 
bottle. During recess ,  he drank half of 
it. How many millilitres of juice is left 
in the bottle now? 

A)  100 ml 
B) 500 ml
C) 10 ml
D)  50 ml



ANSWERS

 1. B
 2. D
 3. A
 4. C
 5. B 
 6. A
 7. C
 8. A 
 9. C
 10.  B  
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